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6. o 193} Zo] AABCOIA AB = AC, BC =
BD = AD 4 o, zx°] 27]& otofet
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> =g 36°
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AD =BD°|2& /A = /ABD = /x
BD =BC9o|E& /BDC = /C = 2/x
AB = AC©o|B& /ABC = /C = 2/x
/A + /ABC + £C = 180°0| 22
/x4 2/x+ 2/x = 180°

w2bA 5/x = 180° , zx = 36°°]tt.




7. AB = AC?l o]5HAZ ABC oA /BAC = 76° 4 o, zx 9
T 7)=9
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® 20° @ 22° @ 24° @26° ® 28°

S5 \
AABC 7} o] 5HIAZES ol 22 /ABC = /ACB

949 LABC €} /ACB & | 5=t o] 9= ol 0 o|B=
/ABO = /OBC = «OCB = /ACO

whahA] 4 x zx = 180° — 76° = 104°

SoLx=26°
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/B = x2} 5} /DEB = x
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AE = DE°|E& /DAE = 2x

AABE 9|4 217+l o] o]ste] /AEC = 3x
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wetA AABC ] WZHe] 9F2 180°0l 22
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B C
AABC oA /B = /C olEZ
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/A=] (%) |e]22BA=BC---O

® AB=BC=CA,AC, /B
(@)AB-BC=CA,AC, «C
® /A =/B=:,C,BC, /A

@ /A =/B=:/C,BC, /C

® /A=/B=/C,AC, /C

~&B

AABC oA /B = /C o|B2
AB=(AC)---0

(A= (/C)°]EEBA=BC---O
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> Heh: 68°

(BAC = /x (F0l H2 Z)

(ABC = /x (97})

.. /BAC = /ABC = /x
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LAHE B E Ad= A
g2 AL nF ket
C
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@ AD = BE © ABD = /BAC

© (DAB = /CBE
@ AC=CE

® ¢BAD + /BCE = 90°

® AABD = ABCE
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/CBE + 90° = 180°)

© ¢ABD = /BCE
® BD = CE
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19. AABC oA A = 90° o|t}. DB = 4cm A E
EC = 6cm € W], AABC 9] Ho]&= 9 D
B C
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AADB = ACEA ©]E2 DB = EA = 4cm , DA = EC = 6cm
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Az o)tk BC 919] §F & D of|A
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AAMD ¢} ABMD ©f|A] ZAMD = /BMD = 90°---Q)

MD =35 --©

AM=BM---®

9,0,0°1 9] AAMD = ABMD(SAS?Hs)

S /DAM = /B---®

AD 7} A 9] o]5EXolE g /DAM = /DAC---®
®,0°1 93l /DAM = /B = /DAC
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APAO &} APBO oA
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the AABCO)A AB = AC, CB =CD, /A = 40°Q o}, z/x2] 37]

9

@® 20° @ 25° @30° @ 35°

® 40°

~&B

AABC ol A
/ABC = /ACB = %(180" —40°) = 70°

ACDB ©f| A
/BCD = 180° - (2x 70°) = 40°
whebA] zx = 70° —40° = 30° 0]t}
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/B + /A =90°0°]1L
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/BCD = /x, /ACD = £y & 5}
AABC oA /ABC = /x + £y

ACBD ©J|A] /CDB = /x + 2y

AECD ©f|A /ECD = /x + £y °|BE2
(ECB = ¢y

/ACE = 100° |22

[x+ 20y =100°---Q)

ACBD ollA A tZHe] 2719] 9F2 180° 0|22
3/x+ 24y =180°---©
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B 9cm” C
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AABD = ACAE (RHA &
AD = CE = 9cm
.. DE = AE - AD = 5(cm)
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otS 72O AB : BC = 2 : 3 ¢ ZAZL 4

FABCDo|A H P &= W AB 2] 30|11,
AQEWBCE2: 18 J&sl= Holrp. P
oluf, /ADP + /BQP 2] 3717 B
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tD|:'-UI|>

9ol IHAHFE D 9 Q & ¢AsHAt.

APBQ 2} AQCD °|A]
BQ:QC=2:1,AB:BC=2:3°]2E2 AB=BQ=CD,
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/PBC = /QCD

.. APBQ = AQCD
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Zo| S Az g ol

- LADP + /BQP = /ADP + /CDQ = 45°
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® OD = OF = OF @)»AD0 = aCDO
® AAEO = AADO @ CD =CF
® AD = AE

A AAEO
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OD=0OE=0F,CD=CF,AD=AE

AADO , ACFO = ACDO (RHA 3H5) o]




